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l.

_ ; id not logge
(ii) I‘I'lllf(‘nl'l: it a concept 10 uq'u[gl'll?l(:j] unrealized prnfll‘i ar
{"” S'nl‘k in tmdl‘ iq ‘,;"l"rd al |ﬂf"kl" V“Il“‘ TNH I”Wf'r fl[ f_l'l'“
y . . . ) sorfi ‘
(iV) Life of a baainess is broken into seversl parts called accounting years or financia
years,

(V) Salarieg outstanding accoun is a na.ninal aceannt

(M) The Tria) Balance is a part of the ledger.

(b) Discuss the fundamenlal Assumptions as per AS|. (6)
E)W@HW&WW%WMI
(i) tmhaaurwu%agm m@(maﬁmamﬁ%a‘aﬁr&}'w
;| - 7 .
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Write a short note on any three LR
(@) Contingent liability
(®) Contingent Asset
(¢) Events accruing after balance sheet date
(d) Accounting Policies
() GAAP
Bl @ w o e ol it

‘ta)- 3113?%1’51’ TRw

(b) SR wReuf

(c.) e Me (/Y @ o A« weawd
(d) @Ram Rferan

() Mewd \

2. (a) Aman purchased a machine for Rs. 80,000 on 1st April 2019, He charges depreciation
on SLM and closes his books on December 31 every year. The useful life of machine

~is 8 years and the scrap value is Rs, 8000, He purchased apother machine on 1 ay

2020 for Rs. 45000 with 5 years useful hite and wid residunl value, In 2009, the (o
i, machine was sold lfor Rs, 30000 on 30™ June. Prepare the machinery aceount for the
; 3 years ending December 31, 2022, ’ (10)

. (b) Define the term Revenue and state the conditions that should be satistied for tevene

recoonition in sale of goods recapnition (1

"o
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A v S mhy, - \
« (%) s X 1 ada 2019 W RS 80,000 W W@ PR B

e  § o e o RO R IR ()
IR g g ad @ Ik BT T Rs. 8000 ¥ m"ﬁ. 2020 <} Rs, 45000
ismﬁmﬂﬁaﬂﬁéﬂi‘fﬂm{a%mwm“ﬁ?wﬂﬂlmhi
WA W 30 qF R R, 30000 ¥ ¥ T M 31 frygy 2022@%'&%1@;
3ad @ Ry WG EE AR FC
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(a)mmam}wﬁmﬁaﬁﬁwﬁﬂ“ﬁﬁ-m@'“ﬁ-mﬁnﬁzﬁﬁlgﬁ%@
W A afo | R ‘

(a) Distinguish between the perpetual and periodic methods of inventory valuaiios

©

(b) What is meant by amortization? Explain ,fhé factors affecting _amorﬁzation.

o)
(ﬁﬁ@ﬂm%‘m&ﬂtmﬁmﬁfﬁﬁf%ﬁhmﬁﬁm

(@) o ¥ @0 o 27 R @ TR T T T W " AR

3. (a) A From the following figures extracted from the books of shri Govind, you are require

to prepare a trading and Profit and Loss Account for the year ended 31th March, 2022
and the Balance sheet as on that date

-

after making the necessary adjustments:

J‘ratic;ulars Rs. Praticulrs Rs.
Shriiovind's (apital 2,28,800 | Bills payable | 5,500
Shri Govind’s Drawings 13,200 Opening Stock 38,500
Plant & Machinery 99‘00(.} ' r 35,200

_i : -

o A
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Freehold Property 66,000 Sundry Creditors | 44,000
I;l:r_cha;c—s - | 1,10,000 I’us_;sc & Telegrams 1,540
- —
Return outwards 1,100 Insurance 1,760 |
Salaries . 13,200 | Gas& fuel 2,970
- Office expenses _. 2,750 __—_E—%-a;_[)cb@s €60 —
Ofﬁceﬁmmi_turc‘ t i +5,500 'Oﬁ'li:echt. | | 2,860
| Disé:oi;ﬁ{#fcl([)r'.j- 1,320 Fmgth k 9900 -
'S'und.ry_-De‘Bt(.)-'rs- S "”‘29',2'60 | Loose t(.jols . 8w : 2,200
- 10% Loﬁn.to -Shﬁ.‘Kr.i‘s.hn_a'. 44',006 Factmy I;ighting o Lo
Cash at Bank ¥ 29.,260| Provision for doubtful ﬁebls 880
Sales - | 2,31,440 Intérest on loan to Shri Krishna | 1,100
Cash in hand 2,640
Adjustments:

(2) Closing Stock was valued at Rs. 72,600.

(1) A new machine was installed duringThe year costing Rs. 15,400 but it was nat
recorded in the books as no payment was made for it. Wages Rs. 1,100 paid for

its erection have been debited to wages account.
| ]

(c) Depreciate plant & machinery by 33-1/3%, Furniture by 10%, Frechold property
5%

(d) Loosc {ools were valued at Rs. 1,760

B1.0.
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LY
{8,
{¢) Of the sundry debtors |

([ §% on qundry debtors for doubtful debts. l
planm .

() Maintain a provision

o nted (o o comn
() the Manager is entitled

rission of 10% of the net profit after charging such )
commission. - l

b o g nts account and cash account ?
. Jween receipts and payme e cas LT
(b) Write the difference between recet]

(ﬁ)*ﬁwﬁﬁea‘hgﬁaﬁi\bmﬁﬂwﬁﬁ'a‘@“m‘}:ﬂ FEN HATE TR
TR R A 3 A, 2022aﬁWa‘§%mW§ﬁ“?ﬂmlamﬁm3ﬁ? !

mmﬂm%mﬁﬁwmg 5_; ,_ﬂ
R M dew ?_-2-3'@’09. %qﬁf" 5,500
e g 13,200 =i R 38,500 -,
Eoe I il 99,000 ELE) : 35,200 |
Wi s 66,000 I AErl © 44,000
et 1,0,000 T 3R | 1,540
éTEI fied 00 A 1,760
a‘rﬁ 13,20T T gk fw 2,970

; rﬂ;q'iau o 2,750 A W : 660
Fe @ wia 5,500 arien & T 2,660
feeme v/@ (Dr) 1,320 W h;;oo”

e ) e
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M' 4.4.000 : hag T’lﬁ’%’i _ © 100
bl 29,-260 | _aﬁmaﬁ%ﬁqw ;;0
S . 2,31,440 FFE W AT W =@ 1100
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() iﬂﬁmmwwnéww zm

- (b) a&a‘%a’mmmomﬁaﬁmawa{wﬁwmﬁaaﬂﬁsﬁﬁwg&i-

'. ﬂﬂﬁ@%zﬁiwﬁﬁmmmaﬁﬁ?mﬂ}ﬁmaﬁwﬁmwm .
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d i 2

(c) @@= aﬂtwﬁ@aﬂ 33-1/3%, T A 10%, Weres @ufa & F 5%
(d) & Fegel & T4 Rs. 1,760 40 \

(¢) RRu I ¥ A Rs. 660 I (?ad)%aﬂta%mmﬁmmmf%m
(0 maﬁ%ﬁvﬁmwﬁ.ws%wﬁmm@
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_ tstanding i
(2) Explain and illustrate accrued income - i

(b) From the Trial Balance and the necessary information given below oy , public school, |
Prepare Income and Expenditure Account for the year 2022, and 2 Balance Sheet as |
at March 31,2022. !

- __‘-_‘---_‘_‘_-_-_‘--_—_-___—_-_‘-
Debt Balances Rs.. - |-Credit Balvances . & Rs.
Buldng | 2,50000 | AdmissionFees . 5.000
Fumiture & Fittings - | 40,000 | Tuition & Other Fees receiveq °2,00000 |-
Library Books ~ - - | 60,000 | Creditors for Supplies - 6,000
- --' e _.- ‘ i - .-- = - |
9% Investments 7 -] 2,00,000 | Rent for the hall .- 4,000
Salaries = 2,00,000 | Miscellaneous Receipis 12,000
Stationery 15,000 | Govt. Grant 1.40.000
| General Expenses 8,000 General Fund 4.00.000
Annuzl Sports —Expenses | 6,000 Donations Received for 25,000
-purchase of Library Books
Cash at Bank _ _ 20,000 | Sale of old furniture | 8000
Cash in hand 1,000 | |
x |
)I 8,00,0‘00 I 8,00,000
. __‘__‘_-_—‘__‘-‘__ |

Fees yet to receive for the year Rs. 10,000, Salaries vet to be paid amount to Rs. 12,000.

Ijumilurc costing Rs. 15,000 was purchased on 1.10.2021. The book value of the Furniture

i sold (On 3009202]) was Rs. 20.000 on 0] 04 2021 Depreciajon is iO be fh&!ge \.“‘:

10% per annum on Furniture & Fittings: 159, on Library Books and 3% oc Building.
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(¥) F sw N = T W) Wi K FE o WA,

‘ﬁ]mﬁ*%m%mﬁi'&dmma3{31"&39:2
Hﬁl‘zwﬁmzz%hﬁﬁimﬁwhﬂl

T ——

B

" -_-__"_‘—'—
™| I | Rs. e ¥} Rs.

s 250000 | WY T

~6M'._
9% ﬁ%!f 200000 & W R 4000
Riil . 200000 | RE% W 12,000
ﬁaﬁ'-m 15,000 | W S 1,40,000
= 8,000 T R 4,00,000
At &1 - =m 6,000

T @5 & &R 25,000

™ v =

T ¥ = 20,000 gﬁﬁwﬁﬁﬁ

8,000
?RI ¥ wER T 1000 | |
i
¢ n
;," 8,00,000 I 5.00‘000
V] |

—_—

T 7 fay €9 =% 7% Rs 10,000 W= & € 31 3% 5% R 1
& e w31 Rs. 15,000 T TR T vl 1aane

000 IN W WA

1?:; e, a7 l,‘l%‘%'}m‘q“‘-—\-
T TF 7 (30092021 F) 01042021 =X Rs. 20000 oy R S Rl w =/
10% W& e Saaed ‘j’f’Fﬁ W 15% IR waw W 5% Win W W 2
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oo (CIMS:
Ny (a) Briefly explain the following (¢f!

(1) Invoice Price

- . ' 3
(1) Dependent branches (3 marks cach)
: ds are invoj
 (b) Nestle Ltd. Delhi has a branch at Ajmer. Goo '6ed to the branch at cos plys
33 %% Following particulars in respect of the branch s avail.able_ :
' I __‘_-__‘_‘——-—._-______‘—
1 - - ' _ : Lo F\
Rs. ' L " | : Rs.
Opéning stock - '040'000 GO‘OFISTGF u1:rgco:.l by branch to H.O.| 8,000
Closing s I | - 21,400 - .|- Depreciation on furniture - © 400
| Cashsales - | 99200 | Pilferage at invoice price 8,000 .
-Credit sales - ' | 44,800 Loss in transit at cost 15,000
Goods sent to branch 1,60,000 lieceived from Insurance 12,000
Co. against loss in transit
Discount to customers 1,600 | Direct expenses inéurred by 3,680
"H.O for branch
Goods returned by . 800 | Indirect expenses paid by " {10,000
customers | H.O for branch
4./ e .
Normal Joss at invoice 400 | Cash received from debtors 40,000
price{ |
g
Prcpzfre:

(aj Branch Stock Account

(b) Branch Adjustment Accoupy -



(¢) Brangy Profit and Logs Account

(d) Branch Debtors Account

(¢) Goods sent to branch Account

(=) Frafife = = v ¥ @

() &

i)

X B (o) P w0 wer @ @ X PR Ren s B 0

e

(12)

L) ¥ BfE R @ aﬁﬁzi qa:mar%l TR, @ i m331/3’% q'(w :

IR A 40,000 | TET EW R 8,000
®iaw d@ &l 21,400 | WW W TeHe@ © 400
e 99,200 | F ¥ WA 8,000
wfec ot 44,800 | W W UORE A B 15,000
TR ¥ N T RN 160,000 | UGRE ¥ JEEM & Raaw 12,000
o T X WE
| weai = w2 1,600 | wmEr @ QT vEH EW 3,680
frr mawas =&
TEH BRI WieE T AR 800 | Wr & fw VAR B WEW 10,000
: fiv W swew em
| AmE W W &l 400 \iq?,ﬁ 3 WS "5 40,000
P.T.0.
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Am R W
(i) e et
(ii) :mm LLRIEC] W
(i) e e e
G) o T
(v) e i 3 o
| (a) éxpiain ;he _accon-m;ljng &éimént of the folloWi_ng'itéms urid(;.r Stock and-Det;tc'}rs system
(i) Nr;rfmc;il Los.s
() Abnormal loss . | . (4 marks eachy

(b) The Chennai Head Office sends goods to its branchies at cost plus 25%. There is a-
standing instruction for branche to send él] cash dﬁily to Head Office. All expenses of
branchrare paid by Head Offjce €Xcept petty cash expenses which are met by branch
itself which is allowed to maintain petty cash balance of Rs. 2,000 on imprest system.

| I
Stock at branch on 1-1-2017 25,600 Cash sales at branch 45,000

- .] z
at Invoice Price
]

‘f __-_-___‘—-—u—__.
Debtors at branch on 1-1-2017 12,800 | Cash collected from credit [ 75,000
customers of branch -
— ] BN & S——
,000
Petty cash balance on 1-1-2017 | » 2,000 Credit sales at branch 85
I E——

___'__“'""""‘-——--....___
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g T — - i B L = ——— e .
Branch Prepaid Rent on 1-1.2017] 1.500 Bad debts 500
e ———— ) __ﬁ___"__,____-———-—- — —
Branch Furniture on 1-1-2017 - | 19,200 Discount allowed to credit
800
I e
Goods sent to branch 95.000 | Stockat branch 35,000
at invoice price on 31-12-2017.
Goods returned by " 5.000 | Depreciate furniture @10%.
_ branch at mvoice price
Cash sent to branch for expenses:| .
Salaties @ Rs. 2,000 p.m. 24,000
 Rent paid @ Rs. 1,500 p.m. ] 18,000
Petty Expenses 900
(10)

You are required to prepare Branch Account in the H.O. Books.

(m)ﬁm.ﬁthmwﬁ%mmﬁ%WW‘aﬁmaﬁm

(i) W [I5]

A:n!gmqmﬁmmﬁmaﬁﬁﬁanﬁm%%wwﬂm%twﬁ%ﬁ.

=6 11_1ra1'-‘{ WA

a 8w fow W 3 R 2,000 TR W R T

v e y@n%ﬁ%uﬁﬁﬁwaﬂmmﬂﬁlm%aﬁa
eqdea g e s R, R s e T W PR W T

P, )
g uiE 'y W = TN
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R N sme f B =
WA W w207 W | 25,600 far |
A wiw b - |
|

- | o @ R -
1-1-2017 & wwy A WA 12,800 | Wie meEy

— -——'_—_"\
1-1-200 W g oy A | 2,000 | T X B fp

1-1-207 W wen W R [ 1500 | ¥ X | |
11200 W e W (19,200 | BRE D R ) ey
By 'Jia; R i ¥ . | 95,000 | 31-12‘.2‘[1]?-, i T, L] Eﬁ?l

hwm : . " . - E

T @ R W@ W 1 5000 T W @ 10%

& faw wen ¥

W T

¥/ 2,000 TR W W | 24 000

e 7 1500 =@ W @ | 18 000

g 900

mgwﬁﬁﬁ'ﬁﬁmmﬂmmwﬁl
)

parlmcnls,

i ey . .o aoono different de
5. (a) E;r.plain in brief the allocation of common expenditure among ®)

»
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(b) From the

Account for the year engeq 31 3 2105 and 2 Pl2"

f'}“o“i’t Trial Balance, prep2™® Deports

ce

T .r r S’.
otz Trading and Profit and Lo

Sheet 25 on that date n the book s

ISR
Cr.(Fs) !
Particulars Dr. (Rs.) /J
400 |
Stock on 142("4 Deptt A 3 00 ________‘:
——— _______._...--——-"'""""'__'__ |
4,900 ,:
DcpttB { 1
N S _ ':
' T 9,800 1
Purchases Deptt A ., : :,
__.-._____._._,_.—-—'—'__-.__—'__ ) ]
. ‘ ' " 3 13 S
' S | 16900 - |
Sales DepttA_ - |- .- - - i
e - .
T2 o 13520 - - |
?fff_?___'_'___———_ — i |
-Wages Deptt A 1:40 -
n
B Deptt B 240 |
B 1.870 . *
Rent 1
yF- 1,320 J
Salaries .
s e ‘
. . 420 '
R 441 's
Discount allowed I -
e e | | 13
- Diccount received IS
. SN s 738 :
l/ 4
(yrringe inverds ' "

PT.0-
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. [ | /
Fumiture and Fittings 600
Plant and Machinery T 4,200 |I |
Sundry Debtors 1,820 | I
-Sundry Creditors ! 3,737 _I |
Copial | 9,530 _J
" Cashmbad e P o ':-_r TEE 5 :[ —
'_ -‘-C_ash_ at‘b;gi(.l _ . - | : 1,980 - ]] _-;_
Total 43,820 F 43.820

The following information is also provided:
(a) Rent, lighting and heating, salaries and dcprecizition are to be apportioned 10 A and B
‘departments as 2:1.

(b) Other expenses and incomes are to be apponidncd to A and B departments on suitable

-“_-*lﬂ._- ""“Ww,"hh-'v-r T

basis.
(c) The following adjustments are to be made:

[
“Ként pr_c-paid Rs. 370: Lighting and heating outstanding Rs. 180; and depreciation 02 :

furniture and fittings and plant and machinery @ 10% p-2.

i
. [ Ta%
-t

(@) The stock at 31.3.2015: Department A - Rs. 2,748; Department B - Rs.
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(m)ﬁfﬁ?wa}aﬁwma}mﬁﬂﬁﬁﬁwaﬂﬂm

(®) PR grm 33w 2, 3132105 @t @ra a8 @ fae fowda 3ff ak e o ol
= AR B st @ gz @ (oh o TR R) A AR X I RA A ow T
e daw R

R e (v) e (3)

2014 B RWE . M A 5,400

 fvm B | 4900

e b e e e
°

- :  fm A " - 15,900

~fevm B "1 13520

& fasmr A 1,340

fomr B 240

G ' __ 1870

! L awfn @k dy 420

|
|
T @ Il 44 i
|
l
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738
=

469
ke afw

.—_‘__‘_-____-—___'—\—
600

T Ak Bl
. e —

" : 4,200

vy Iwr (Debtors) - __-1,820 ;

—

900

T ¥ awS -

= ¥ =4 1,980

&

~=

43,820 43,820

ﬁﬂ%ﬁamﬁémﬂﬁg

-

(%) fomn, wefén e #iem, 3 o w1 A ok B P A 21 3 W K Ao
fwm w2

é

- () 7 = ¥R @ D IwE e W A 3k B fom @ @@ W R

(n) Pl e B ay @
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o 370 v @, e o @R W 160 v, A w3l fifr ok

(9) 3132015 9 wia: g A - 2748 T OB - 2,40 TR

OR

a1

5. (a) De[iairtmenf X Sells goods to Department Y at @ Profit of 25% on cost and to Department
Z at 10% profit on o8k, Department YSells goods to X and Z ata profit of 15% and
** 20% on sales, respectively. Department Z charges 20% and 25% profrl on cost o -

‘-Departmenf X and Y, respectlvely

Department Managers are entitled to 1-0% commissmn ‘on net pmﬁl after eliminating

' .unreallzed profit on departmental salcs Dcpartmenlal proﬁts after charging Managers '

commission, but before adjustment of unrealized profit are as under:

DepqrtmentX Rs. 36,000“
DeparlmentY Rs.” 27,000
Department Z Rs. 18,000

Stocks lying at different departments at the end of the years under:

.| Particulars

Transfer from Department X

Dept. X Rs.

Transfer from Department Y

-

Transfer from Department 7.

-

14,000

6,000

Dept. Y Rs.

15,000

Dept. Z Rs. |
11,000
12,000
B
ST R
P70y,

—
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f/ //a-
20
1458
Required: Find out the correct mpanmcntal profits after charging Managers' commission. &
- (12)
e 1 ]
(b) What are the Salient features of Financial Lease’ "

(W)Fﬁm\ﬁ‘m\‘*m‘“%%%mmﬂﬁ“szWm e
R ¥ S 2 v Y, xﬂ‘zﬂﬁﬁmmw#ﬁzw%mww
iﬂ'crrhﬁ\rmzﬁﬂmxﬂ‘Yﬁm“m-zo‘%a}zzs%mﬁé.

%Wﬁlﬁﬁﬂﬂﬁ%wmm ?lﬁn‘-fmraqq-—-:;zr-

R ﬁﬂqm LS
ﬁ‘ﬂm'x | Rs. 36,000
ﬁﬂm Y = Rs. _2?_‘,@6
ﬁ"ﬂ'ﬂ z | RS 18,000

T S ¥ S R e ¥ <

faazm fom x @o)| fom YRy | z@e)

e x 4 v - 15,000 1,000 l

- = }

fasm v ¥ =R 14,000 = 250 |

. B d AR _. | |
‘__ g9 7 4 ™o 6,020 5,000 -

§
R TS @ SR O ey & @ 99 BWeE aW & Yl S

(@) e @ € 1= fasuan =g 7

(3C0)
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mﬂvﬂm?’vdwﬁé‘. el
s gEIH-TAHRIW ﬁﬁm@ﬁ%ﬁwwﬁaﬁm,ﬁf&?
aﬁsﬁmmwﬁmmﬁq,

(a) State with reasons whether the following

statements are true or false :

(i) Void contracts and void agreements are

different

(ii) Undue influence is assumed and need not

be proved

(iii) Communication of acceptance 1s complete

when it comes to the knowledge of the

offeror 9)

(b) A promises to repay the debt of his younger brother
B and puts his promise in writing and gets it
registered. Later on, A refuses to pay the debt.

What remedies are available to B. (6)
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o

(OR)

(a) Comment on the following

() “Rule ot estoppel does not apply to a

minor”

Uﬂ “(]“L‘l‘ can hc -‘“h_ik‘t‘t (o any terms and

conditions”

(i) “Wager is different from Insurance

contracts™ (9)

(b) Ashoka, a minor was supplied some necessary
articles by Sumit for an agreed price of Rs. 10000,
Can Sumit recover the agreed price from

Ashoka. (6)

(a) “Difficulty of performance does not discharge a

contract”, Comment. (5)

(b) Write a short note on Bailee's right of Lien.
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() Discuss the circumstances when an ngency by

m.k-psxil.\' IS created, (3)

(OR)

(1) “When a person makes payment which is due from
another, he can claim reimbursement (rom the

liable party™ Comment (5)

(b) “Liability of Surcty is coextensive with that of the

Principal Debtor™, Comment., (5)

(¢) Differentiate between Unnamed Principal and

Undisclosed Principal. (S)

3. (a) Discuss, with examples, the imphied conditions ol

Sale by Sample. ()

(b) “Right of stoppage in transit ol an unpaid seller s

an extension of his right ol Lien™, (5)

(¢) A enters in to a contract to sell a table (r ady lor
delivery) to B on 5™ May 2023, The table o be

delivered on 8" May and price to be patd on 1O
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May. When will the OWnership pass to B. Will

Our answer be the . ;
your answer be the same jf buyer and seller have

agreed that ownership wijy pass only when the

table is delivered to buyer's place (5)

(OR)

(a) “Perishing of goods does not affect a contract of

sale” Comment giving exceptions if any. (3)

(b) Discuss the rule of Caveat-Emptor with

exceptions. (5)

(c) A ordered for 10 bottles of Champagne from B.
B delivered 15 bottles by mistake. What remedies
are available with A. Does the contract become

voidable in this case. (5)

4. (a) Differentiate between Digital Signature and

Electronic Signature. )

(b) Discuss the duties of Certifying Authorities.
(5)

P.T.O.
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- " . 4 " e
(¢) Write a note on cyber offences involving damage

(0 computer resource. (%)

(OR)

(a) Discuss the circumstances when an Electronic
Signature Certificate is suspended or revoked.

(5)

(b) Discuss the rules relating to time and place of

dispatch and receipt of electronic records.  (5)
(¢) Define: Private Key, Public Key, Key Pair and
Asymmetric Crypto System. (5)
(a) Differentiate between LLP and a Private

Company. (5)

(b) Discuss the qualifications and Disqualifications of

a Designated Partner. (5)

(¢) What is the procedure for changing the Registered
Office of an LLP? (5)
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(OR)

(a) Discuss the procedure for converting a Traditional

Partnership in to LLP. (3)

(b) What are the consequences of incorporation of an

LLP? (5)

(c) Discuss the procedure for choosing and changing

the name of LLP online. (5)

(3) @nww aftaq oW fa fafafas @e @ @ e
(i) = FFau 3 I FAR FAN- JAN B

(i) s=fed wwa w9 fomn w2 sk 58 arfea e
F smavgEar TE 2

(i) weEEE B WA A I W A ET Ewor qof
& s ? (9)

(@) ¢ oy SR Wi @ B T P A FIA 2 AR
s arer e €9 A w@dl ® AR 38 S aRe
2w ¥, ¢ o @ EE F A IR W R
& 2 for S ¥ ITER I T (6)

P.T.O.
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(i) 7T R S frow it Gt @ snie B wEAT
%n

(i) “a TN =y A sEr 27 (5)

(¥) s, T Amifont W R g 10000 € @
T A Gl s A wEEe e aEe W

2l -
2 (3]') “Wﬁmﬁﬂﬂﬁvwﬁé@qqﬁm%,,
feooft Q) (s)

() fr & A @ SHUER W T A e AR
(5)

(&) s?fqﬂfmﬁ?ﬂ'a‘ﬂﬁ%wﬂaﬁﬁrwaw%w
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(am)

() SR HNS AR A ey 2y it A ¥ AN 2,

([)

ﬁaﬁmqﬁﬁmﬁmmwm%n
oot &) (5)

ST A S A T D g e 27 o
WI (5)

I FRTE 3R e fifire & 9= s ST
(5)
JCENT & A, AT A T € AR ma W w=

FifoTg| (5)

‘v WY fdar & W ¥ wEA @ e IE@
TEufar & JfER & foar € ) w1e & vaw
¥ o w8 B 2 (5)

A5 % 2023 @ B @l U& oad (Rellad & fow
ﬁmﬁ)ﬁaﬁ'%'ﬁm'qa'agdﬂiiﬁaﬂ'mﬁm'aia T
N Pa BaRg @ @ SR 10 W R A @

P. T,
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WA (a1 e wfies @t @) wa o 2
HHF IR T8 BN Al @lew A fawer @wE
@i T 9 'R W aifeer @der @ @ T
TEAE S (s)

(=)

(3) T ® TE BN ¥ A F ey W A SR AL

(%)

4. (&)

(%)

T B IuEe af @ e @ feorh @il (5)

YA & WY Hhdl GEUH © T DEve - Tl & Ao
™ 94l i) (5)

U d IET A0 el @ fog stk fRan @
A T ¥ 15 dOdd famaka @ T @ owm oa@m
SUUR JUA 1 1 T8 AN H IS T B o
27 (5)

fifSiedr semer 3R ToaHE T=ER & W9 W
Ffe ()

YU Wit & adl Wo"El Sl (s)
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& e SIEG
g it forfey (s)

(ar)

ARSI ER IR e e

v Aefea o e fa s 2 (5)

@) e Rt & gk i @ @ oA =
A wEta o | = i (5)

) R AR Bt R, e w9, 590 A
e ) R (5)

5. (a)mﬁ@ﬁﬁﬂ%ﬁamaﬁﬁm
(5)
) A e A e o @I R
A (5)

(@) W%dﬁ@ﬁfﬂﬂmﬁmaﬁmw

27 (¢)
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(@)

(§) E GRURE Wil W eweed A ofeafite s @
o WA @t (8)

(@) o ® WS @ @ ufon e @0 (5)

(@) A YA @ A ) g ol weed o e
w ol @k (5)
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Part A : Business Mathematics

1. '
(a) A manufacturer 1s engaged in the production of

three products P, Q and R, which are sold in three

different markets A, B and C.
T
he annual sales of these products (in units) in

th :
ese markets are given below :

Products
Markets P Q R
4 600 250 500
B 400 850 300
1100 450

&
250
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You are required to find :

(i) The total revenue from cach markel if
these products are sold at 2100, 369 and
I80 per unit respectively.

(ii) The gross profit from each market, if the
per unit cost of producing these products

is ¥80, ¥50, and ¥60 respectively- (7)
OR

(b) A company produces three products every day.
Their total production on a certain day 1s 45 tons.
It is found that the production of third product
exceeds the production of first product by 8 tons
while the production of first and third product is
twice the production of second product. Determine
the production level of each product using matrix
algebra. (7)

2. (a) The demand function for a certain product is given
by p = 25 + 6x — x?, where X is the number of
units demanded and p is the price per unit. Obtain
the average revenue and marginal revenue

functions. What is the marginal revenue at x = 2?

(3)

P.T.O.



1377 4

(b) Find the elasticity of supply for the supply function
x = 3p” + 7, when p = 5 and interpret your result,
(5)

OR

(c) Given the total cost function as C = ax® + bx + ¢
where a>0; b, ¢ > 0. Show that the average

and marginal cost are equal at minimum average
cost. (3)

(d) The demand for a commodity is given by

p=4- 5x2. For what value of x does the demand

have unit elasticity? (5)

3. (a) Find the amount and compound interest on 36,950
for 3 years if interest is payable half yearly and

the rate of interest is 6% per annum. (4)

quivalent to the nominal

(b) Find the effective rate €
4)

rate of 6% converted quarterly.

OR

t value of 710,000 due in one

(c) What is the presen
est

year and 220,000 due in two years, if the inter

4

rate is 8% per annum.
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(d) Which 1s better from the SlandpniI“ of the
investor, 9.1% converted annually or 9% umvcrtcd

quarterly? (4)

Part B : Business Statistics

1. (a) ‘Different averages serve different purposcs but
arithmetic mean is an ideal average that can S€rve

all purposes.” Comment. (5)

(b) The following details are available for two factories

A and B:
A B
Number of employees 470 520
Average daily wages (Rs.) 345 285
Standard Deviation of wages (Rs.) 50 45

(i) Which factory pays out a larger amount of

daily wages?

(i) Which factory has greater variability in

individual wages?

P.T.O.
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(i11) Find the combined average daily wages and
the combined standard deviation of wages

for the two factories. (10)

OR

(c) Explain the properties of Standard Deviation.
(5)

(d) Draw a curve and obtain the values of median,
lower and upper quartiles, 9" decile and 55
percentile from the following data

[ Scores | Belowl0 [ 10-20 [20-30 [30-40 | 40-50 | 5060 60—70‘

l

Number of 2 |

spidents 24 36 30 24 9 6 21 i
o
(10)

2. (a) What is ‘Non-sense Correlation’? Explain with

(3)

examples.

(b) The following data relates to advertising

expenditure and sales revenue of a firm

Advertising expenditure
(Rs. lakhs) ! ‘ ? * :
Sales revenue
(Rs. lakhs) o [20 | % |3B |
| |




3.
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(1) Fit regression lines to the given data.

(ii) Estimate the likely sales revenue when

advertising expenditure is Rs. 7 lakhs.

(iii) What should be the advertising expenditure

if the firm wants to attain sales target of

Rs. 80 lakhs?

(iv) Calculate coefficient of correlation. (12)

OR

(c) What are regression coefficients? How are these

different from the correlation coefficient? Explain

their properties.

(10)

(d) Calculate Karl Pearson’s coefficient of correlation

from the following data

x| 1234|567 ]|8]9]10
v |11 |15|17]16|23(22]19]20| 26 | 31
()

(a) Explain the Moving Average Method of determining

trend values. Compare it with the method of least

squares in terms of its merits and limitations.

(10)

P.T.0O,
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OR

\[\\ campuate the trend values by the method of ll‘-li!ﬂ

WA Broame the following data. Also estimate
the production to 2004

1 . 1 ] ]
\ oa IR D200 [ 20 | 2010 | 2020 | 2021 | 2022
' ] 1 *
]‘“\hl\ TR MO A A1 | l 4 ‘I " ‘H ‘q
O fnnes) ,
(10)

4 (@) What v the Consumer Price Index? How is it

useful? (4)

(M) Construet the Consumer Price Index Number for

2000 with 2022 as base

lem I bl tuel } Clothing Rent Miscellaneous
v evpendinue ' i 10 f 20 5 20
|
e 202 (Re) | 180 2 I i 10 40
e i 2008 (Ry ) | 0% W 1 NS 0 48
| -

If the monthly income of a family was Rs. 1,00,000
in 2022 what should be its monthly income

I 2023 so as to maintain the same standard of
ll\"lng'_' (6)
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Ok

(c) Construct Laspeyre’s, Paasche’'s and Fisher's

Produts

I

V]

Pawe ( ear
Price “”Jaﬂhl}r
(Rs ) (eys)
L]
25 L]
22 1%
i 7
' .
20 40

of these is the Ideal indey” Why?

price index numbers from the following data, Which

Cusrem Year
Price (psartsty
(s ) (kys)
44 &0
41 2
W T s
3 [ 45 1l

Part A : Business Mathematics

—

(10)

v, [t P, O A R A IATE w IEmEA & A

Bh#';mﬁhm-mﬂmz\,ssmcﬁ

aaar #1

got A A g I goaredl W &) i fa

qa & oad R

p.T.O.
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Jqre
O P Q R
e 600 250 500
B 400 850 300
C 250 1100 450
IR T o 2

(i) 3R 3 ey = Fw %100, 60, 3R %80 Wi

T W AW W R, N RS SwR § A
feran ToE W B

(i) 3@ 39 IR = IJare & iy 3 AN
THAA: T80, T50 IR 60 B, W TAF qOR A
Fehel oY fhaem Bran 21 (7)

q1

(F) T FuR Wi 99 ITmE 6 IART aRa 31 U
fAfiga foeq & 9 & IARA 45 T B\ U uwy
T 2 for JR IEE F IR B IAR B Iqe
A 8 o Aftre 2 Wi Ted 3R TR IR 1 Ieqre
T I F IAEA § WA B AT Swiforg
#1 IqENT FaE WAc IJAE H IART TR OFuiRy
g (7)
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o fifted sam & fov wm waww p = 25 + 6x
R T R, E p WO A g g N aE
3 ik 9 W T A R sed qeE IR A
T HFH AT FOTCL x = 2 W AW Tod T
27 (5)

aﬁﬁWx=3p3+7%ﬁQaﬂﬁaﬁFﬁi
T AN, W@ p=5 ? 3K sy gRom @ SR
ifer (s)

k21

C=ax3+bx+cifimﬂ'§jaamﬁq{—cﬂlﬁaﬁ%ﬁ
7Y, Wl 150 b c2 0 R Fwa IR A 0T

AT FEd W @ 2 (5)
fd o &t W p:4—5xzalx%ﬁw‘ﬂ?ﬂ7{%
o @ ¥ 3FE A 27 (5)

Tf? 26,950 TR W SARE AUR W =1 23 2 3N =
R 6% WA TR, A 3 AW F A@ AW 3 wwAfe
(W A &l (4)

foel 1 & aRafda 6% # TE = F TR gw
W A HIA| ()

P.T.0.
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a1

(&) A I R g0 ofy af 2, A v ad ¥ 210,000 T
W A ¥ 720000 w g A qA TN
27 (4)

(z) Fows & feemio } 919 affter wRafde ferar @0 40
9% FFme smuR w oRaffa frr T @ A AER
27 (4)

Part B : Business Statistics

L () ‘R sted sem-sem s @ ofd @ SR
FTloET e T ey sed @ S @ SRE
off &= "ewar 21’ ol wif (5)

() %%ﬁ;ﬁAaﬁ?B%ﬁ?ﬁmﬁﬁaﬁaﬁiW%‘:

A B
sl & @ 470 520
g A qorg (%) 345 285
Tored @ A fade (€) 50 a3

[~

(i) ﬁq_a%@%ﬁmw@aﬁwﬁﬂﬁraﬂ
s R B
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(i) e ) A R Ao A efere A
27

(ii) 3 PR B fav wgam stew AFw TID
A A F FIE W e AT Ao
(10)

o
(@) e faaem & T A e fkwrl (5)

(7) vE aF WK IR FfafeE e, P 3R
90 ugEE, oF si® N 553 wRmw F AT W

=T 10 & ]10-20 [20-30 | 30-40 | 40-50 | 50-60 \6[1-?0 '
Y |
w A | gy 36 30 24 9 6 21
{ =TT
(10)

2. (%) ‘e ws-weu FA 27 JeEwl | W (3)

(®) Frafafad Yo TE B & A A 3R R aoe

} gaftd 2

P.T.O.
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(i) Tw T srersy _'%Wwwwﬁaﬁm
RN

(ii) fro w7 o T A g waE

TSET &1 A T

(i) afe v 80 oRg €Y & faghl wied &l A HT
T 2 R e =g w®n B Ao’

(iv) @E@=er umE s AT ST (12)
ar

(@) wwEer i w27 F Feday qUIE § RE e
27 FA@ AN @ AT HT (10)

() frfofiag sl A Mo [GEET & Geasy w9
AT FHIfw
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2312211920 26 | 31

(5)

v (3) vl T A PR S ) g gt P
e 0| g i s dnai @ wd F

ol A Ry D W R g A (10)

art

(@) FefoiEa Ser & <gaaw @ < fafy ga wafa w=
&t MU T A 2024 & fog SeaEa @ S AT
Y|

‘ T4 2016 | 2017 | 2018 | 2019 | 2020 | 2021 | 2022

ST &
(000 =) 56 55 51 47 42 38 :. 35

(10)

4. () Il AeU GUKIS F 27 TS DA IERN 27
(4)
(@) @ 2022 & WUR A a4 2023 B fw I

T GOl qE & A &

P.T.0.
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w= W | fwe | #E | T | ARd
% =17 35 10 20 15 20
2022 & #WA () | 150 25 | 75 | 30 | 40
2023 "# FHa (F) | 165 30 85 30| 45

gfe 2022 ¥ vw uRar & wfes 3@ 1,00,000 T
q, A 2023 ¥ Iga MEE FG T BT AT AR
FAH 9T T F G940 W@ S g 7

a1

(6)

frafofaa sl @ a@m, T sk fem & 14

T @ & 0 A T | A - Al

qIHIE 87 FHRO FA@Q
JTETT 9 Current Year
(%) (=) ) (fFet)
A 25 40 40 50
B 22 18 40 20
C 34 16 30 44
D 20 40 30 45
(10)

(1000)
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